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({7{(; b 1. Find an equation for the plane passing through the point Q(—1,-4,5) and con-
o taining the line with parametric equations

p=1—t y=2t—-3, z=1.
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2. A) Find gg if z is defined implicitly as a function of z and y by the equation

sin(zyz) =z + 2y + 3z
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B) Give an equation for the tangent plane to the surface 2° -+y° 4 2* = 0 at the
point (2, -2,2).
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3. A) Sketch the surface given by z = 2% — 4
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B) Find and sketch the domain of AL
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:’ ?* 4. Let f = f(z,y)such that (D;f)|a1 = —v2 and (Dzf)|a1y =3
1
where 4 = <-\-}§, \/§> Find (Dsf)|q,nifv = 1,\/_).
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5. Consider the function
flz,y) = 32" —zy +3/°

A) In what direction (unit vector) does f decrease most rapidly at (—1,1)7
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B) In what direction is the rate of change of f at (~1,1) equal to zero.
(Find all directions).
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